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. In cycle counting, the frequency of item counting and stock verification usually varies from

item to item depending upon the item's classification.
At the economic order quantity, holding costs are equal to purchasing costs.
Errors made within the location decision area may overwhelm efficiencies in other areas.

SWOT analysis identifics those activities that make a difference between having and not
having a competitive advantage.

Work breakdown structures is a useful tool in project management because it addresses the
structure of project activities

Many service firms use point-of-sale computers to collect detailed records needed for
accurate short-term forecasts.

Shortening the project by deleting unnecessary activities is called "project crashing."

The critical ratio sequencing rule prioritizes the jobs based on the importance or value of the
customers who have placed the orders.

Disaggregation is the process of breaking the aggregate plan into greater detail.

Operations splitting involves sending pieces to the next operation before the entire lot is
completed on the previous operation.
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1. Which of the following is an example of time-based competition strategy?
(A) new internally developed products
(B) enhancements to existing products
(C) alliances
(D) - migrations of existing products

2. Which of the following does not represent reasons for globalizing operations?

(A)reduce costs

(B) improve supply chain

(C) reduce responsiveness
(D)attract and retain global talent

3. Which of the following statements best characterizes delivery reliability?

(A)a company that always delivers on the same day of the week
(B) a company that always delivers at the promised time

(C) a company that delivers more frequently than its competitors
(D)a company that delivers faster than its competitors

4. Forecasts used for new product planning, capital expenditures, facility location or

expansion, and R&D typically utilize a
(A)short-range time horizon
(B) medium-range time horizon
(C) long-range time horizon
(D)naive method, because there is no data history

5. The short-term scheduling activity called loading

(A)assigns dates to specific jobs or operations steps

(B) specifies the order in which jobs should be done at each center
(C) assigns jobs to work centers

(D)assigns workers to machines

6. The number of units projected to be available at the end of each time period refers to

(A)net requirements

(B) scheduled receipts

(C) the projected usage of the item
(D)the amount projected to be on hand

7. A major strength of MRP is its capability

(A)for timely and accurate replanning
(B) to reduce lead times

(C) to maximize production throughput
(D)to minimize scrap
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